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1. In Vthe IS-LM and AD-AS models both the short-run equilibrium intéreét rate and the
short-run equilibrium general price level fall if workers become more preferred to

leisure.

2. Suppose that unemployment results from the minimum-wage law. Other things equal,

the unemployment rate rises if households become more preferred to consumption.

3. Inthe IS-LM and AD-AS models, other things equal, both the short-run equilibrium
interest rate and the short-run equilibrium general price level rise with the expected

inflation rate.
4.  Other things equal, the current saving increases with the expected future income.

5. Inthe market for loanable funds, the equilibrium interest rate falls if ﬁrms feel more

pessimistic about the future.

Accordirrg to the PPP theory and AD-AS model, other things equal, the

o

currency of country A appreciatés against that of country B if the central bank /j’
of country A lowers the interest paid on reserves. %{_
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7. Consider the following growth model, where Y is output, X is capital, / is investment,
S 1s saving, L is the number of population (or labor), and / is human capital. The

capital depreciation rate & and the saving rate z are constant.
"Km=(1-8)K+ 1,
Li=8=zY
Y, =K, (e L) 13

Denote the population growth rate by n (i.e. 147 = Ly+1 / L,).

(a) (2 47) Based on the production function, write the output per-capita (y = Y/L) as a
function of capital per-capita (k = K/L) and human capital (h).

(b) (8 53) Suppose that the saving rate is z=0.4, the capital depreciation rate is & =0.1,
and the population growth rate (n) is n= -0.02 (i.e. population decreases by 2% each
year). Derive the steady—state capital per-capita (k) and the steady-state output
per-capita (y) as functions of the human capital level 4, respectively.

(©) (6 1) (Continued) Suppose that the growth rate of human capital is 1.5% per year.
What is the growth rate of the output per capita (y) in the steady-state? What is the
growth rate of output level (Y) in the steady-state?

-

8. Consider the following Keynesian model: g

C=5+0.9Y,

I1=40-5R

G =30

T'=-50+0.5Y

NX=25-0.1Y,

M =140 '

L=10+Y;-5R

P=1 (Pnce level is ﬁxed at 1)

where Yis real income, C is consumption, ¥, is disposable income, I is investment, G is
government spending, 7" is net tax, NX is net export, R is interest rate, M is nominal
- money stock, L is the demand for real balances, and P is price, which is fixed at P=1.

(@) (6 5) Derive the IS curve and the LM curve, respectively.
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(b) (4 77) Calculate the equilibrium level of real income and nominal interest rate.

(c) (4 43) Assume that the long-run real income (potential real GDP) is Y12 =$150. The
central bank adbpts a monetary policy to achieve the long-run real income. What is
the target level of money supply M the central bank should set? Calculate the target
interest rate R under this policy.

(d) (4 47) Plot the IS-LM diagram in a figure to indicate the original equilibrium and the

new equilibrium under the counter-cyclical policy in (c).

9. Consider a two-period model in which each individual maximizes his lifetime utility
U(C1, C2), where C; and C, are the consumption levels in the first and second
periods, respectively. Suppose that each individual receives income Y, 1in period 1
but nothing in period 2. The lump-sum tax is 77 in the first period and no tax in
the second period. Let the P; and P>, both exogenous to individuals, be the price
level in the first and second periods, respectively. Each individual holds nominal
money M in the first period and does not have a demand for money in the second
period. Specifically, the individual's constraint in period 1 and 2 are:

C+MPi=1-T)
Co=M/P>
Each individual’s lifetime utility is described as
| UC, G)=InCi +blnC,, where 0 < b <1,

(@) (8 47) Derive the individual’s optimal consumption in the first period in terms of Y7,
Th, Py, Py, and b. .

(b) (5 73) Assumed that P rises while other things remain unchanged. What’s the impact
on money demand in the first period? What is the intuition behind this result?

(¢) (5 53) Continue from (a). Assume that b declines significantly while other things
remain unchanged (including P; and P,). What’s the impact on the demand
money in period 1? What is the intuition behind this result?







